IDEAL INSTITUTE

COMPOUND INTEREST

ar)

(Fshg & )

TYPE-I
The compound interest on ¥ 10,000 in 2 years
at 4% per annum, the interest being compounded
half-yearly, is :
10,000 €T HT 4% AMfeh Tehdfg TS hI &L
R, I W X B: TEH 9% SIg) 9 a2 aqui
a5 TR = 3hm?
(1) T63680 (2) T 82432
() T91286 (4) T 828.82

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
In how many years will ¥ 2,000 amounts to ¥
2,420 at 10% per annum compound interest?

10% aTftieh Fehdfs &msl W 2,000 ®o fohad
a8 H 2420 ®IC B STC?
(1) 3 years/ 3
1
2) 2 7 years / a9
(3) 2years/ T

1
@ 1 Y years / I8

(SSC CGL Prelim Exam. 27.02.2000 & 13.11.2005 (IInd Sitting)

3.

A sum of money invested at compound interest
amounts to ¥ 650 at the end of first yearand ¥
676 at the end of second year. The sum.of money
is :

FIE HT ThgiG S | TEd o¥ o o |
650 & SR TW a9 & fq T 676 ®, @ Wl
RN S

(1) 600 (2) T540

() 625 (4) T560

(SSC CGL Prelim Exam. 24.02.2002(1st Sitting) & (SSC CPO S.I.

Exam. 07.09.2003)
Ifthe compound interest on a sum for 2 years at

1
12 5% per annum s ¥ 510, the simple interest

on the same sum at the same rate for the same pe-
riod of time is :

zrﬁ;mﬁwrmwlz%% afes & 2 o

F1 Tohd(G S 510 ®o B, A IH &AM I
I W W IT N gEAEfY T GERO =TS
-

(1) T400
(3) T450

(2) T480

(4) 7460
(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
At‘what rate per cent per annum will ¥ 2304
amount to ¥ 2500 in 2 years at compound in-
terest ?

oy aIftier & 1 W 2304 & Tehdlg &
209y 1 2500 F. IS

(1) 4%% ) 4%%
3 41‘V 4 41‘V

— /0 — /0
(3) 4= @ 43

(SSC CPO S.I. Exam. 05.09.2004) & SSC CGLPrelim Exam.

13.11.2005 (First Sitting)

What does T 250 amounts to in 2 years with com-

pound interest at the rate of 4% in the 1st year
and 8% in the second year?

T 250 T UMY Tt o H 4% iR W 9 |
8% 1 Thdfg e W fohal & S?
(1) F280 (2) ¥280.80
(3) T468 (4) ¥290.80

(SSC Constable (GD) Exam. 12.05.2013 Ist Sitting)
The compound interest on ¥ 2000 in 2 years if

the rate of interest is 4% per annum for the first
year and 3% per annum for the second year, will be

2000 F. 1 2 ¥ F1 Fehd(G TS, STk AT
1 W TUH T h AT 4% afeies qen gt adl
& foau 3% @ifis &, gm-

(1) T142,40 (2) ¥140,40

(3) T141,40 (4) ¥143,40

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
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10.

I1.

12.

At what rate per annum will ¥ 32000 yield a com-
pound interest of T 5044 in 9 months interest be-
ing compounded quarterly ?
Iz sarel e w9 § AT 8, @ e i
forg afiies X 32000 ®. 1 9 HH ThaS
S 5044 €. B?
(1) 20% (2) 32%
(3) 50% (4) 80%

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
A certain sum, invested at 4% per annum com-
pound interest, compounded halfyearly, amounts
to ¥ 7,803 at the end of one year. The sum is

HE HN, STSade €9 § HAfad IhdiG
el h1 4 gfavd arfties W 8 69 0 W
Th 99 % I H 7,803 ®UC B B OUE U
T 2-

(1) ¥7,000
(3) ¥7,500

(2) ¥7,200

4) ¥7,700
(SSC CGL Prelim Exam. 27.07.2008 (Ifid Sitting)
A certain sum amounts to T 5,832 in2 years at
8% per annum compound interest, the sum.is

HIE YR Thgfg SN Si 8 Ffavid alftih &
¥ 2 o9 | 5832 FIC T SRAENTT A E-
(1) 5,000  (2)4%5,200
() 5280 @) ¥5,400

(SSC.CGL Prelim Exam. 27.07.2008 (Second Sitting)
The compound interest on T 6,000 at 10% per

1
annum for 15 years. when the interest being

compounded annually, s

1
6,000 ®IT HT 10% a1fih <A &1 T Q 15

Y 1 ThglG S, SE(h SN dle €4 H
T g €, ghm-
(1) %910 (2) ¥870
(3) 930 (4) 900

(SSC CPO S.I. Exam. 09.11.2008)
What is the difference in compound interest on

1
¥ 5000 for IZ

compounded yearly and compounded half-yearly

year at 8% per annum if interest

13.

14.

15.

16.

1
5,000 ®UT W 8% TSk AT i T 4 IZ L]

% oTg Al &Y 9 G qon arfies &9 o
HAIfSq = a1l wshdfg AT 61 S BI-
(1) ¥8.16 (2) 8
(3) T4.08 4) ¥4

(SSC DEO Exam. 31.08.2008)

At what rate percent per annum the compound
interest on ¥ 1500 for 2 years is T 449.40?

fordlt aftieR = @ ¥ 1500 A1 2 ¥ 1 TohaG
SN T 449.40 B1 AT W1 A1fteh ST B
(1) 10% 2) 12%
(3) A4% 4) 15%

(SSC DEO & LDC Exam. 28.11.2010)
The compound interest on a certain sum of
money for 2 years at 5% is ¥ 328, then the sum
is
Ifg fRE, AR W 5% R TR T4 h1 Thals
& ¥ 328 ® QN R R?
(1) ¥3000 @), ¥3600
(3) ¥3200 (4) ¥3400

(SSC CGL Tier-II Exam. 21.09.2014)

Inwhat timewill ¥ 1000 amountsto ¥ 1331 at
20% per.annum. compounded half yearly?

fera T3 | 1000 ®1 &I T 20% @it
H W Y 1331 TG g S, S&fe s gfa
IR SR B 82

1
(1) 15 years /a9 (2) 2 years/dd

1
(3) lyears/dd  (4) 25 years / a9

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
A sum of ¥ 8000 will amount to ¥ 8820 in 2
years if the interest is calculated every year. The
rate of compound interest is

IfE =TS T TUET Ufd a8 & ER T HI ST,
@ T 8000 T qfer T § T 8820 B ST
IEIHR SH wehgls oA i S femaHl 872

(1) 6% Q) 7%

(3) 3% @) 5%

(SSC Sub-Inspector & LDC Exam. 28.10.2012. Ist Sitting)
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17. A principal of ¥ 10,000, after 2 years com- TYPE-II
pounded annually, the rate of interestbeing 10% 1. A sum of money doubles itself'in 4 years at com-
per annum during the first year and 12% per an- pound interest. It will amount to 8 times itself at
num during the second year (in rupees) will the same rate of interest in :
amount to : ‘ FE YR Thafs A | 4 9w H B
% 10,000 %1 F@eH, Teet a9 H 10% v i S €1 9 TR ST W 8 T I A BT R
VW, 3R TR o 12% 9 &1 W R, T S s 2 el
Epi W7 ahgfs = SieH, fhad ®I B (1) 18years/=¥  (2) 12 years/ad
ST (3) 16years/=d  (4) 24 years/ o
(1) 12,000 (2) 12,320 (SSC CGL Prelim Exam. 24.02.2002 & 04.07.1999 (Ist & Iind
() 12,500 (4) F11,320 -
N Sitting& (SSC CPO S.1. Exam. 16.12.2007)
(SSC Sub-Inspector & LDC Exam. 04.11.2012. Ist Sitting) 2 The difference between the simple and com-
18. A man saves ¥ 2000 at the end of eaf:h year and pound interest on a certain sum of money at 5%
invests the money at 5% compound interest. At rate.6f interest per annum for 2 years is ¥ 15.
the end of 3 years he will have : Phen th .
T ARH B ad & od § T 2000 ST T SR ) N
fordll Gy R 5% oftien =Tl Bl X | 2 T
Y 5% whdfs AW W FHER w3 713 T8 S
C. ) & W] SR Rl STl 61 S 15 ®o B
% ofd § IWh TH B : e
(1) T4305 (2) T6305 ; =0 o )
(3) 4205 (4) T2205 (X6, @) "R,
(SSC Multi-Tasking Staff Examm. 10,03.2013) (3) ¥6,000 (@) 7,000
19 A sum of -f 3’200 invested at 10% p.a. com- (SSC CGL Prelim Exam. 24.02.2002 (Sec?nd Sitting)
pounded quarterly amounts to ¥ 3,362+Coth- 3. “A sum ‘porrqwed under compognq interest
pute the time period. ?ou‘tf)‘lelz 1ti‘e‘1f ullflO }}/lears. When w;l} it beco{r)ne
T 3,200 F1 T 10% AR W g ourg 0 1ts; att vesamer;:[A[eTorg1nterest.
Ll
AN W g AN W RV eE W T dq’:g;'q ;%dgwwg [;
3,362 8l STl B qRI9R, S§ 9 i srafy < ST dt 81 9%
A FIT W W fore 999 ¥ T ¥ IR T F ST ?
. (1) 15years/d9 (2) 20 years/dH
(1) 5 year / T8 (3) 24years/d9 (4) 40 years/TH
2 1 / <_>|'Ef (SSC CGL Prelim Exam: 24.02.‘2002 (Secolnd Sittirfg)
( 3) 5 yeat e 4. A sum ofmoney becomes eight times of itselfin
(3) 2years 3 years at compound interest. The rate of inter-
3 est per annum is
4y = /= ,
() g year HE SR whfs A © 3 o o o
(SSC Graduate Level Tier-II Exam. 29.09.2013) T B S | =S HT AfE < B
20. The sum of money that yields a compound in- (1) 100% 2) 80%
terest of ¥ 420 during the second year at 5% 3) 20% @) 10%
pa.is | -
s ﬁ ﬁ ﬁ gﬁTﬁ, Tyﬁ 59 ﬁf ﬁ |WR, (SSC CGL Prelim Exam. 08.02.2014(F1‘rst Sitting)
5. A sum of money placed at compound interest

TR T8 H T 420 Tkl =S W T T ?
(1) ¥4,000 (2) 42,000
(3) ¥8,000 (4) 21,000

(SSC CL Tier-I Exam. 11.11.2012. Ist Sitting)

doubles itself in 5 years. In how many years. it
would amount to eight times of itself at the same
rate of interest ?
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FE YR Thafs A | 5 9w B g R
STt 21 SEH AN # W W 98 i fhad
g # o8 T g2

(1) 10 years/ad

(2) 15 years/ad

(3) 7 years/TH

(4) 20 years/ad

(SSC CGL Prelim Exam. 13.11.2005
(IIndSitting) & (SSC CPO $.1.Exam. 06.09.2009) & (SSC CAPs S.I.

& CISF ASI Exam. 23.06.2013)
A sum of money at compound interest amounts
to thrice itselfin 3 years. In how many year will it
be 9 times itself ?

Th IR, Tohalg o W 3 a0 § @ T 3l
S 1 RN, IE AT HeA TR BT 9 T e
i o @l St?
(1) 9 years/ 3
(2) 27 years/ad
(3) 6 years/TH
(4) 3 years/ TS

(SSC Graduate Level Tier-'Exam. 16.09:2012)
Ifa sum of money compounded annually becomes

1.44 times of itself'in 2 years, then.the rate of inter-
est per annum is

Ifg FE i AfEeh STUR W Hehdfg &S
W2 ogu G 144 TFNE ST 7, o SH
S 1 Afes a0 fha B2
(1) 25% @) 22%
(3) 21% (4)" 20%

(SSC Graduate Level Tier-II Exam. 29:09.2013)

3
If the amount is 3 3 times the sum after 3 years

at compound interest compounded annually, then
the rate of interest per annum is

afs IR i wRaE S @

3
EN T3 o0 k1 =ehglg A8 gt 39
T @ ST, @ ST i arftes ¢ fenat 82

(1) 25% (2) 50%
3) 16%% 4) 33%%

(SSC CHSL DEO & LDC Exam. 10.11.2013. Ist Sitting)

TYPE-III
Ifthe difference between the compound interest,
compounded every six months. and the simple
interest on a certain sum of money at the rate of
12% per annum for one year is ¥ 36, the sumis :
Ife forelt UM 1 12% ofties &1 X ° & :
TEH o= WIS ST Fehdfg TS SR HIERT
TS 1 Teh o8 1 S 36 ®IC B dl T8 TR
fopat €2
(1) ¥10,000 (2) ¥12,000
(3) ¥15,000 (4) ¥9,000

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
The difference between simple and compound
interest compounded annually, on a certain sum
of money for 2 years at 4% per annumis T 1.
The sum (in ¥)is.
forlt TRT WX 4% anfiier =<l 1 X9 2 9w &
WO 19 SN wehafs. s &1 S | ®0d
2, SEfh s Wi T WA g g1 9% o
e (wwai 9)0%
(1) 650 (2)1.630
(3) 625 4y 640

(SSC.CGL Prelim Exam. 11.05.2003 (First Sitting)

The difference between simple and compound
interest (compounded annually) on a sum of
money for 2 years at 10% per annum is T 65.
The sum is
fordll & et T 10% afties w1 W 9 2 99 &
IR &A1 SR wehdfg <arsl (i o gaife)
H AW 65 T T T8 LT 2-
(1) ¥65650  (2) ¥65065
() ¥6565 (4) 6500

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
The difference between the compound interest
(compounded annually) and the simple interest
on a sum of ¥ 1000 at a certain rate of interest
for 2 years 1s ¥ 10. The rate of interest per an-
num is :
1000 ®o T HAURT W 2 I6 & WHRI A
R wehdls = (Wl oo Hafe) w1 SR 10
o B\ aIftiek = 1 T il
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(1) 5% (2) 6% (1) 435 (2) T450
() 10% (4) 12% (3) T430 (4) T432

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting) (SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
If the compound interest on a certain sum for 9. The simple interest and compound interest (com-
two years at 12% per annum is ¥ 2,544. the pounded annually) on a certain sum of money
simple interest on it at the same rate for 2 years with a given rate for a period of 2 years are ¥
will be 900 and T 954 respectively. The sum of money
Ife Th SR W W Hw 12% A Y is
Tohdis S T 2,544 81, A IH W W 2 T R fordll wrafen = ferelt <1 el <X 9 2 99 & WM
HER A1 fohae g2 RO &6 qO Thdlg &= (e &9 A
(1) ¥2,400  (2) ¥2,500 GIIfed) HELT: 900 TUC T 954 I T| T
() ¥2,480  (4) 2,440 ST B-

(SSC Graduate Level Tier-] Exam. 19.05.2013) (1) ¥3700 (2) 3650
At a certain rate per annum, the simple interest (3)F 3850 (4) T3750
on a sum of money for one year is ¥ 260 and the (SSC CPO S.I. Fxam. 09.11.2008)
compound interest of the same sum for twoyears  10. On a certain sum/of money, the difference be-
is T 540,80. The rate of interest per annum is tween the compound interest for a year. payable
= &1 fedt aifiles X 9, fodt o= ufn == half-yearly, and the simiple interest for a year is
Teh I¥ k1 HIERU, &S 260 & 91 39 &4 T 180. Ifthe rate ofinterest inboth the cases is
Tfer &1 2 o BT Thgfs A 54080 & 2 10%,then the sumis
= F TfE fedt Tftr W) Agaftss &9 ¥ W ahafg
(1) 4% @) % W‘ﬁ'{S@T@TW@aﬁ‘ﬁw‘W
(3) 8% 4) 10% WWT180W|aﬁWﬁWﬁW
(SSC CGL Prelim Exam. 27.07.2008 (First Sitting) ﬁ < 10% Rﬁ' ﬁ’ ?ﬁ w TFFQT m:ﬁ aﬁo
The simple interest’on a sum of money at 4% (1) ¥60,000 (2) 72,000
per annum for 2years is ¥ 80. The compound (3). ¥62,000 (4) T54,000
interest in the’same sum for the same period is (SSC MTS (Non-Technical) Exam. 27.02.2011)
ToRd! = TR A1 4% aiftes X 2 99 1 MERT 11, VA sum becomes ¥ 2,916 in 2 years at 8% per
S 80 T, B ST &F TR ShirSaT B THITSfR annum compound interest. The simple interest
Terals &S B at 9% per annum for 3 years on the same amount
1) ¥82.60 2) ¥82.20 will be
8 §81.80 (4; §81.6O T TR 8% Hfa I Thafg = W 2o o
(SSC CGL Prelim Exam. 27.07.2008 (First Sitting) 2,916 &l S %l St e R 9% wfee w

The compound interest on a certain sum of money RO S AR 3 A F e S -
at 5% per annum for 2 years is ¥ 246. The simple (1) 600 (2) 675
interest on the same sum for 3 years at 6% per (3) %650 (4) T0625
annum is. (SSC Sub-Inspector & LDC Exam. 20.10.2013)
fordlt o= <1 5 wfaera afties TSI W E 2 99 12, Sita deposited ¥ 5,000 at 10% simple interest

1 ThG A 246 BT 7| SH SRR I 6
Jfaera anfifer &1 St W E 3 99 3 T GIERY
=S B

for 2 years. How mcuh more money will Sita
have in her account at the end of years. if it is
compounded sem-annually.
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13.

14.

15.

@ = T 5,000, 10% HHEROT A I T 2 a9
% fau s feu TegeRr, afk €A &1 e
ek TUR R Tohd(g o o, T 39 T
@ ¥ fea iy saen fye Sme?

(1) ¥50 (2) 740

(3) ¥77.50 (4) ¥85.50

(SSC Graduate Level Tier-II Exam. 16.09.2012)
The difference between simple and compound
interests on a sum of money at 4% per annum
for 2 years 1s ¥ 8. The sum is

fordlt s W 4% aftiR = /1 T 9 2 T
& WIHRO G Fehdfg TSN i <N § o T
CELUNIRIE
(1) 400

(3) T4,000

(2) ¥800

(4) ¥5,000
(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
Ifthe compound interest on a sum for 2 years at

1
125 p.a. is ¥ 510. the simple interest«on the

same sum at the rate for the same pefiod ef time
is

Ife 12%%qﬁraﬁmzaﬁﬁw¢mm

= T 5102 @ SE W sE afer wsH
37afa T IR TS feha] &2
(1) 400 @) T450
(3) T460 (4) . T480

(SSC CGYL Tier-1I Exam«21:09.2014)
Find the difference between the compound-in-
terest and the simple interest on ¥32,000:at 10%
p.a. for 4 years.

T 32,000 ® =URT W 4 a9 &, fTT 10%
AMfes 1 S Y Tehalg oATS SN TR0 7S
1 <R T
(1) ¥2051.20
(3) T2025.20

(2) ¥2052.50

(4) ¥2501.20
(SSC CHSL DEO & LDC Exam. 16.11.2014)
TYPE-1IV
A sum of money invested at compound interest
amounts in 3 years to ¥ 2,400 and in 4 years to
T 2,520. The interest rate per annum is :

HIE HIY FhgfG e | 3 99§ 2 400 ®o
AN 4 991 H 2,520 ®o B ST B AfHeR s
H T R
1) 5%
() 10%

2) 6%

4 12%
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
A sum becomes ¥ 4500 after two years and ¥

6750 after four years at compound interest. The
sum is

EAEE N o el | e B B T |
4500 €9 3R =R I % 9K 6,750 T &
W @1 9% R 2
(1) F4000 (2) ¥2500
() £3000 (4) T3050

(SSC €GL Prelim Exam. 24.02.2002(Middle

Zone) &(SSC CGL Exam. 13.11.2005)

An amount of money at compount interest grows
up tor¥ 3,840 1in 4 years and up to ¥ 3,9361in 5
years. Find the rate of interest.
Teh UMY, FhdlG &S W 4 a0 § T 3,840
Y St & SR i aud ¥ 3,936 AEIER, S
EARCTO i I
(1)2.5%
3) 3.5%

2) 2%

(4) 2.05%
(SSC Graduate Level Tier-II Exam. 16.09.2012)
A certain amount of money at %, compounded
annually after two and three years becomes ¥
1440 and ¥ 1728 respectively. r 1s
Teh I 1% FGas & Jhgls & R W
Tul AT 3 TN b WG HAN: T 1440 71 ¥
1728 B Wl 1 qRIER, 1T WH 41 8?2
1 5 (2) 10
3) 15 (4) 20

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)

A certain amount of money earns ¥ 540 as
simple interest in 3 years. If it earns a Compound
Interest of ¥ 376.20 at the same rate of interest
in 2 years. find the amount (in Rupees).

fordl o W AU A & §9H 3 98 |
T 540 ferd €1 af% 2 o ¥ 3ol & = W W
T 376.20 Tehafs = fHa @t IR (€9 #)
BIcREIIS

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

IDEAL INSTITUTE

167
(1) 1600 (2) 1800 4. Mr. Duttadesired to deposit his retirement ben-
(3) 2000 (4) 2100 efit of ¥ 3 lacs partly to a post office and partly to
(SSC CAPFs. CISF AST & Delhi Police ST a bank at 10% and 6% interests respectively. If
Exam. 21.06.2015. (Ist Sitting) TF No. 8037731) his monthly interest income was -f 2000’ then the
TYPE-V difference of his deposits in the post office and in
the bank was :
3 A A S 3 T SO & wal Hgha e
1.  Asumof ¥ 13,360 was borrowed at 81% per W SHYC: SERER § SN S{vd: o W HA:
annum compound interest and paid back in two 10% 3R 6% % =1 | |1 Tl afx 57
years intwo equal annual instalments. What was mfger &9 ¥ WW ST 2000 &9 B, @l
the amount of each instalment? e AR 3% § 3T w1 Ui § fRa o
3 ?
13 360 &Y RIS 8= Wiqer afier =erafs o
o ;{ o (1) ¥50,000 (2) ¥40,000
=S| KX YR q Ik ATTH .
. o GB) Nil/3=@ (4 T1,00,000
E Ej <_>|'Ef lll Ej HHH W % EQ (SSC CHSL (10+2) LDC, DEO & PA/SA
foren T Y ToRvd w1 R foRaT eff? Exam. 06.12.2015
(1) 5,769 2) ¥7,569 (Ist Sitting) TF No. 1375232)
(G) ¥7,000  (4) ¥7,500 -y
(SSC CGL Prefim Exam. 27.072008 (Second Sitting) -~ “\yhat is fhe difference between compound inter-
2. A man buys a scooter on making a cashhdown
i 1
payment of .T 16224 and promises to pay two est on ¥5,000for 1= vyears at 4% per annum
more yearly instalments of equivalent.amount in 2
next two years. If the rate of inferest i8.4% per according as the.interest is compounded yearly
annum. compounded yearly, the cash value of the of halfyearly?
scooter, is '
; B 4% TS Tohdfg A
T AfR 16224 F 6 TN PAH a4 S TR & T
371 I & oA AT et afies fRRd et | f o I
) 1= o o1g =ifties iR srefanfiier emeR
g I & IR P WA T, Tl T 2 TR
I AT 6l bR T 4% Selfeh’ sATsl Afoieh WS HI AT HE W IR A TR
®Y 9 HANG EIAT €, @l Whet ohl Ths AT e
T B (1) ¥2.04 (2) ¥3.06
(1) T40000  (2) F46824 (3) 830 @) T450
(3) -f 46000 (4) -f 50000 - (SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
(SSC CGL Prelim Exam. 04.02:2007 (Second Sitting) 2 A money- lender borrows money at 4% per an-

3. A manborrows ¥ 21000 at 10% compound in-
terest. How much he has to pay annually at the
end of each year, to settle his loan in two years ?

Th SAEHT 10% Tshdfg =& T 21000 ®IT
1 U ol 81 B ¥ @ 3fd H SH e
foradt uftr 3+ v fe @ oI H ®mU &
TAE B S0?

(1) ¥12000  (2) ¥12100

(3) ¥12200 (4 F12300

(SSC GL Tier-I Exam. 21.04.2013 IInd Sitting)

num and pays the interest at the end of the year.
Helends it at 6% per annum compound interest
compounded half yearly and receives the inter-
est at the end of the year. In this way, he gains ¥
104.50 a year. The amount of money he bor-
rows, is

T HIEHR 4% afies a1 1 T H o IHR
A1 € U1 A I o8 B S § Wl gl 98
¥ T & 6% Tt Thalg & o X F,
Selfeh S g w9 9 e g
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YR 3 € U1 oA o9 @ 3 H € ot €1 5. Two years ago, the value of my motorbike was ¥
T YHR UTd o9 9% 104.50 ¥, H1 oY < 62500. Ifthe value depreciates by 4% every year,
FIA T I BN IER A TR A A F- now its value s
() T6000 () 5500 T o8 TR B HeREEE H ged ¥ 62500 ol
() T5.000  (4) T4500 aﬁ;uﬁraﬁ4%w?m%ﬁm%aﬁsﬂw
(SSC CGL Prelim Exam. 04.02.2007 (First Sitting) W il m
3. Thereis 100% increase to an amount in 8 years, (1) 56700 (2) ¥57600
at simple interest, Find compound interest of ¥ (3) ¥57500  (4) TS55700
8000 after 2 years at the same rate of interest. (SSC CGL Tier-1 Exam. 21.09.2014
fordt Ufer 5 § aui d WERe A W 100% %! 6. The sum of money which when given on com-
3fg T T S W W 2 T B G T pound interest at 18% per annum would fetch ¥
8000 &1 whdlg TS A HITS| 960 more when the interest is payable half yearly
(1) 2500 2) F2000 than when it was payable annually for 2 years is
3) ¥2250 4) 2125 :
() ¥ @ X HiE &7 R 59 18% T a8 7 wRafE
(SSC Graduate Level Tier-I Exam. 21.04.2013) . ﬁf
4. A man gave 50% of his savings of ¥ 84,100 to TG S A a-j; i 1
his wife and divided the remaining sum among 3 B A ) DI BN W
his two sons A and B of 15 and 13 years of age 960, FTT At fciiy 9 wufy == 82
respectively. He divided it in such a way that (1) 60,000 (2) F30,000
each of his sons, when they attain the age'of 18 (3) ¥40,000 A (4) 50,000
years, would receive the same amount-at 5% (SSE€ CHSL (10+2) LDC, DEO & PA/SA
compound interest per annum. The share of B Exam. 15,11.2015(Ist Sitting) TF No. 6636838)
was 7. The amount on ¥ 25,000 in 2 years at annual
T ARH 4 AT S 84,100 FIT AT 50% compound interést if the rates for the successive
AT w1 % e SR ST Ul shee: e years be 4% and 5% per annum respectively is :
15 @ 13 o8 & 2T AsR B ® fasfsa & 25,000 T 1 1t Tehglg =6 W2 a8 o
&1 3T 39 TR H1 39 THR fafa fhar R T, afs SRR o6 & foft T HAT: 4% iR
IHh A 187 TH SIS & B T 5% Tiaas 5% aifiier 81, a1 fohae ®UT B STEAT?
H1 Tl S W Uk, FHH TRTET U il (1) ¥30,000 (2) 26,800
B w1 91 fema er? (3) 27,300  (4) ¥28,500
(l) ?20 000 (2) ?20 050 (SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 15.11.2015
(3) TZZ,OOO (4) TZZ,OSO Ist Sitting) TF No. 6636838
(SSC CGL Tier-I Exam.19.10.2014)
Answer Key
TYPE-I 11. 2) 12. 3) 13. (4) 14. (4) 15. (1)
I. @ 2 33 34 @5 3
6. (@ 7. (1) 8 (1)9. (3) 10. (1) TYPE-IV
11. (3) 12. (1) 13. (3) 14. 3) 15. (1) . )2 33 4 @S5 3
16. 4) 17. (2) 18. (2) 19. (1) 20. (3)
TYPE-II TYPE-V
. 2 2 3) 3 @4 (1)5 @ . @2 2 3 @4
6. 3) 7. 4 8 (2
TYPE-II TYPE-VI
. (1) 2. 3 3. B4 (3)S5 @ . @2 2 3 3 &4 1S @
6. (3) 7. (4 8. (49. (4) 10. (2) 6. (4) 7. (3) 8. (2
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